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Note: 1. There are 4 Questions in this paper are all compulsory.

2. The question paper is of 70 marks.

Quel. (a) Give the difference between Population survey and sample survey. (8)
(b) Explain Simple Random Sampling Method. )]

. -
Quel. (a) Explain Stratified Sampling Method. (&)
(b) Explain Systematic Sampling Method. (N
Que2. (a) For Probability Prove that P(A4\ B) = P(A)-+ P(B)- P(ANB) - (6)
(b) Solve the following. {12)

1. For mutually exclusive events A,B and C if 3P(4) = 2P(B) = 6P(C) then find
P{(AW B} and P(AVBUC).
2.1f P(4) =0.72, P(B) = 0.36, P(A B) = 0.18 then find (NP(A BYiNP(A'n B}
OR
Que2. (a) Give definition and properties of Mathematical Expectation. . {6}
| {b) Solvel the following. (12)

. From the following probability distribution find P and E{X +2), £(2x -3)

X 0 . 1 2 3 4
Probability | 1/10 p 3/10 P 1/10

2 E(X)=2,E(X") =5 then find E(4X+2),V{4x+2)
Que3.(a) Define Poisson Distribution and give its properties. (6)
{b) Solve the following, an
1, 10 unbiased coins are tossed simultaneonsly then find the probabilities of getting
(1) Al Heads (2) No Heads.

2. For a Poisson Distribution if mean=0.81 then find the S.D. and also probabilities at X=0,X=2.

(' =0.449)
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OR

Que3.(a) Give Properties and Uses of Normal Distribution.

(b) Sotve the following.

(6)
(I

1. The average profit of Shikha and Netra’s Company is Rs.120 and S.D. is 15 then find the

Probability of getting profit less than Rs.100, (0 < Z <1.33= 0.4082).

2. The average wages of Shreeji Company workers is Rs.70 and S.D. is 5. Find the probability of

getting wages between Rs.67 and Rs. 72.(0 < Z < 0.6 = 0.0239),(0 < Z < 0.4 = 0.0160)

Que4.(a) Discuss the causes of variation in production process,

(8)
(b) From the following data draw X » R chart and report on state of control. (1)
X 1o 137 L 20 | 3¢ [ [ 15 | 45 | 2 ITE
R 10 40 23 39 14 21 14 5 17 1 20 |
(n=5,4,=058,D, = 0,D,=2.11)
OR
Qued. (a) Give difference between the charts for Variables and charts for attributes. (8)
(b) Draw P chart and report on state of control, (10
!:n 500 | 500 | 500 | 500 ! 500 | 500 | 500 | 500 500 500 | 500 [ 500 | 500 | 500 SOH
d 24 124 | 18 | 36 | 39 6 30 160 ¢ 48 |30 | 2745 139 ] 18 | 60
p
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Y. () AR dud viel [Rled dut @2all dsicld v, (8)
(61) U0 25 Beslat uald uxerdl, | (9)
OR
sl (w) R Resdat ugld auedl (8)
(o) Ults (ledlot ugld umerdl, (9)
uslz. (ul) detldell HI2 AUl 55 P(AVB) = P(A)+ P(B)~ P(AN B) (6)
(o1) [aaoucﬁ Ghe vyl (12)

£, URUR llaes ueellall AB wal CHR2 Al 3P(A)=2P(B)=6P(C) a2l
Al P{4UB) Wl P(AUBUC) WL
2. 9. P(A)=0.72, P(B)=0.36,P(ANB)=0.18 82l A ())P(AU B)i)P(A' B) L,
OR

Y2, (04) o@Aat wdetsll cauan widl dell aarel i, (6)
- (o) [AAetlott GHct L (12)

1. Aol 2eucioll R d2el [Adzel uell poll (Brc dal E(X +2), B(2x —3) 2.

X 0 1 2 | 3 4
 Hedett g p 3/10 p 1/10

2% B(X)=2,E(X*) =35 8l Al E(4X +2),V(4x+2) 2l

A




Q%B. (%) Watdtot Qctegl Aancll Aott oparel %R, (6)
(61) [AAelloll Giet 201, (1)
110 Aetldlac @ssl As Wi Gornad 2 B dl,
(1) otll o8 U MA (2) As U B o 4R Aell Helicloly Had),
2. % Waldot [Ac2@l 12 Aell Htals= 0.81 A2t Al def YuBld Qurwl day
=0 X=2 UL edleol gL, [0 =0.449)

OR

YB3 () YHL (gt opgitndl WA Guellod ssoydl, (6)

(o) (AAsilol et w1, .(?1)

1B 2o Aotioll Suellall w219l AR 3120 8 Ul YRl Qauciet 15 D Q
W2 AMoll o8l 2,100 ofl AR et Aed] Wrielcion Al (0<Z<1.33=04082),
2. 80% $uollott sHELD w212l Actot 3.70 ol WHIRlet [Qauctet 5 8 A, 3. 67wt

3.72 ol cRA Actot Aetdl siHelDloll Yrotclel SUEL

(0<Z<0.6=0.0239),(0< Z < 0.4 =0.6160)

A4, () fGlarllHl Uetotsll S0 AUosL A : (8)
() LA HRR uzel X, R 2u@utell 2200 53 MRt el owua, (10}

X | 2 37 1 20 | 3a | 34 ] 3] as 39 | 20 | 26
LR [ 10 140 T 23 (735 | 1 21 | G4 | 2 17 | 20

(n=5,4,=058D,=0,D, =2.01)

OR

AL () UclolitiHs WHAW AR IYRUAHS BUAM 26l dgletdd wl. (8)
() Bl HBRA uzell P 2Auoll 2200 531wy uBal [Relsgl @9 duee  (10)

Hteall a1,

[ n [500 500500 500! 500 500 | 500 500 | 500 | 500 | 500 | 500 | 506 | 500 | 500
| d |24 24 {18136 |35 6 30 60 | 48 1 30| 27 | 45 | 39 | 48 | g0
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